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Year 5

Arithmetic practice test 3

|

Name:
Date:

1 1491 + 10 1 10 | 173 x 3
2 | 1048—10 1 11 | 1382 = 2
3 |20+ =97 1 12 | 0.08—0.01
4 _33 =34 1 13|18 7

— 12 12
5 QOXQO 1 14 727X38
6 |2, 4 N s

11 11 790 x 38
7 | 567 + 1000 1 16 |2 _3

5 3 10
s |3 : 17 10.3x 7.7
1

7 |09+03 18 |987,976-260,359
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Year 5

Arithmetic practice test 3

answers
501 10 (519 19 18512216 28 /872
1038 1T 1691 20 |3.996 29 991.8
77 12 10.07 21 14725 30 8
67 13 |1/12 22 (3./10 31 91
1800 14 127,626 23 (2640 32 456,482
6/11 15 |34 24 |26 33 3/4
0.567 16  [5/30 or 1/6 25 |31 2/3 34 80
9 17 12.31 26 |5.454 cm 35 616
1.2 18 727617 27 2.4 36 7
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